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FA ASSUMS D
Ha: AE QM B
el ZEQIM W AES MR (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 22,500
01 HASHHBSEEXS 97,500 57,980 39,520
OAAMES e 97,500
= 75,000
= 22,500
A2l SRgal2el X3 84X 23 162,500 0 162,500
= 125,000
=S 37,500
308 XtXIEMSOIH 162,500 0 162,500
= 125,000
< 37,500
01 XN B2 LS 162,500 0 162,500
OAtEISTISA 2 X JHE 2SN 162,500
= 125,000
= 37,500
ol0I= B4zl K& 18,000 0 18,000
307 212+01& 18,000 18,000
04 QIZHHAIAIH E X 18,000 18,000
Oool0lE dAtizl X2 18,000
& =2 BA2z MHlA 2= 73,317,590 71,359,961 1,957,629
= 17,815,111
= 1,787,861
Il 30,185,073
ES 60,000
[ 23,469,545
a0l 2,641,792 2,197,819 443,973
= 177,380
Il 1,229,197
e 60,000
= 1,175,215
AHAHOIPANY KT 565,000 565,000 0
303 Zal= 100,000 100,000
01 Z&= 100,000 100,000
OXAHZTAIY AT & FA Z&= 100,000
308 XXM SO0l 465,000 465,000
01 XN B2 LS 465,000 465,000
ORI HNEY A 465,000
e =a 2SAE 60,000 96,000 /36,000
e 60,000
308 AXIHMSO0IA 60,000 60,000 0
ES 60,000
01 HAHHBSEXRS 60,000 60,000 0




FAN ASSUMS D
M F =2 P02 MHIA 7%
Rl Ko EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdBAY S5 BH & &MY &2 X
! 60,000
ES 60,000
ANaUZALL S A8 32,000 32,000 0
Il 32,000
307 @12t0| & 32,000 32,000 0
Il 32,000
02 2B YA E X 32,000 32,000 0
OXNaHBARA S JAALSH 32,000
) 32,000
Ao a2 ess 833,7% 778,983 54,812
Jl 568,497
S 265,298
307 el2to| & 270,712 248,423 22,289
) 135,356
< 135,35
05 2I2+RIE =S 270,712 0 270,712
OZg THauAE =2 218 X3 270,712
Il 135,356
= 135,356
308 XXM SOIA 563,083 530,560 32,523
Il 433,141
s 129,942
01 XN BSELES 563,083 530,560 32,523
OJI= AaiZA a2 o1 X3 563,083
Jl 433,141
[ 129,942
e R= AAS MUIA 849,403 459,362 390,041
Il 564,700
= 284,703
307 212+01™ 329,410 216,750 112,660
Jl 164,705
= 164,705
02 2B A HE L 329,410 216,750 112,660
OXtat R= JAE MHlA 2 X (&) 329,410
Il 164,705
== 164,705
308 AXIHS0IA 519,993 242,612 277,381
) 399,99%
= 119,998
01 HASHHBSEXS 519,993 242,612 277,381
OXtet K= A MHIA NE(O1x) 519,993
Jl 399,99%




FAN ASSUMS D
M F =2 P02 MHIA 7%
el ey (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 119,998
et 2= XNE A 64,000 32,000 32,000
Jl 64,000
307 el2to| & 64,000 32,000 32,000
) 64,000
02 2B HAHE L 64,000 32,000 32,000
OXtat 2= X2 Arid] 64,000
Il 64,000
DIfEE=sA Ag2sHl X3 20,000 20,000 0
= 10,000
= 10,000
301 LEIE NS 20,000 20,000 0
= 10,000
s 10,000
01 A2 HSFS(RNEERTHE) 20,000 20,000 0
Ooltss =i A=Hl K& 20,000
= 10,000
[ 10,000
SSHcISAEUH X2 217,594 214,474 3,120
= 167,380
= 50,214
308 AFAIEHMSOIE 217,594 214,474 3,120
= 167,380
= 50,214
01 AXHNBEES 217,594 214,474 3,120
Os=dc|SSAAHE 2SN 217,594
= 167,380
== 50,214
ABSdH 3t 22,442,158 19,649,037 2,793,121
= 1,332,516
s 1,787,861
Il 12,146,687
= 7,175,094
NSAAE SEALSIAIL(E) 222,754 221,578 1,176
Jl 11,377
= 11,377
101 @124H| 30,954 29,778 1,176
Il 15,477
== 15,477
03 SR (RINAHA) 222+ 30,954 29,778 1,176
OSSAHLSIAIY 22| 30,954
Il 15,477
== 15,477




FAN ASSUMS D
M F =2 P02 MHIA 7E
Rl ALBSEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 191,800 191,800 0
Jl 95,900
== 95,900
05 212t =S 191,800 191,800 0
OSEAHISTAIEXEE 2 X2 191,800
) 95,900
& 95,900
KA SEALSTAIL(AIZ) 5,346,715 5,318,517 28,198
Jl 4,112,858
= 1,233,857
308 XXM SOIA 5,346,715 5,318,517 28,198
J| 4,112,858
=S 1,233,857
01 XN BSELES 5,346,715 5,318,517 28,198
OXNG A2l SSASSIAI K& 5,346,715
Jl 4,112,858
[ 1,233,857
2t A0 691,070 602,098 88,972
Il 531,592
= 159,478
308 AFAIEHMSOIE 691,070 602,098 88,972
7l 531,592
= 159,478
01 AXEH B2 LS 691,070 602,098 88,972
Ot &A3H 0 691,070
Il 531,592
== 159,478
A2l E R A OHE (2 2) 2,324,219 2,118,594 205,625
[ 1,787,861
= 536,358
308 AHAIEHMSOIE 2,324,219 2,118,594 205,625
[ 1,787,861
= 536,358
01 AXEH B EES 2,324,219 2,118,594 205,625
o222l XI& 2,148,759
s 1,652,892
= 495,867
OAl-loT 0i24l Ad2e|MBlA X 175,460
= 134,969
< 40,491
2AA EEE d20t |4 19,110 20,580 1,470
Il 19,110
308 AHXIEMSOIH 19,110 17,640 1,470




FAN ASSUMS D
M A =2 2Ao= MHIA 2=
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 19,110
01 HASHHBSEEXS 19,110 17,640 1,470
OTtgZiat AHHE & AL AL FMTP 19,110
Il 19,110
s/ g2 g2 AME XANMEx 69,412 69,412 0
) 34,706
& 34,706
307 @I2t01 & 69,412 69,412 0
Il 34,706
= 34,706
05 2IR”IRIE = 69,412 69,412 0
Odclgade o2t ezt X3 69,412
Jl 34,706
= 34,706
=otzel XIXHAl X2 2,411,500 2,173,600 237,900
Jl 1,855,000
[ 566,500
308 AXIHS0IA 2,411,500 2,173,600 237,900
Jl 1,855,000
= 556,500
01 X SHHBAEXS 2,411,500 2,173,600 237,900
Og ZJ18dA XE 2,411,500
Il 1,855,000
= 556,500
LEX SlFZHl & Hot2el K (HEALY) 2,418,062 2,418,062 0
308 XXM SOIA 2,418,062 2,418,062
01 XN B2 LS 2,418,062 2,418,062
Ogetht 2l=4l XI& 2,308,800
OISt 2tel At 109,262
SlezgtsasA At dEF A K& 268,434 271,207 N2,773
Il 249,706
= 18,728
308 AFXIEHMSOIE 268,434 271,207 N2,773
Jl 249,706
= 18,728
01 AXEN B2 LS 268,434 271,207 N2, 773
O2eg80=agd i detAd A 268,434
Il 249,706
== 18,728
Sl2g0ssd At AHHN ol S &2 16,125 17,200 A1,075
) 15,000
= 1,125




FAN ASSUMS D
M A =2 2Ao= MHIA 2=
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 16,125 17,200 1,075
Jl 15,000
== 1,125
01 XN BSELS 16,125 17,200 1,075
O2egd0+==d A ABHN S2H| 16,125
) 15,000
& 1,125
Slgzga=d A SROIFEH] X2 28,888 29,080 A192
Jl 26,873
= 2,015
308 XtXIEMSO0IE 28,888 29,080 A192
Jl 26,873
=S 2,015
01 XN BSELES 28,888 29,080 AR
O2gg0+a2d At ER0tZaH| X 28,888
Jl 26,873
[ 2,015
S=0F LEHH LA XA 40,508 42,469 1,961
Il 37,682
= 2,826
308 AFAIEHMSOIE 40,508 42,469 1,961
7l 37,682
= 2,826
01 AXEH B2 LS 40,508 42,469 1,961
OER0t L FLSAH X 40,508
Il 37,682
== 2,826
SRS EEtA 228 AZ A 2,818,392 2,193,948 624,444
) 2,348,660
= 469,732
308 AHAIEHMSOIE 2,818,392 2,193,948 624,444
Il 2,348,660
= 469,732
01 AXEH B EES 2,818,392 2,193,948 624,444
O3ALXId &t 2=H K& 2,818,392
7l 2,348,660
= 469,732
KSAM|HLEAL ZAERS AE2E 546,99 546,9% 0
Jl 546,996
308 AHXIHMSO0IA 546,996 546,99% 0
7l 546,996
01 HAHHBSEEXS 546,996 546,99% 0
ORXIGAtsl ABZAF AHY K& 546,99




SN AYBUASZL
Hm: & =2 2R AHlA PE
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 546,9%
XA ZAZ AR M BIA(E) 34,500 34,500 0
pJ 17,250
= 17,250
202 01t 4,500 4,500 0
9] 2,250
= 2,250
08 22AL20iH| 4,500 4,500 0
OXIGAIEI B4 SeIX2AMEIA 2QIQI4T]
&= 4,500
p 2,250
= 2,250
307 212+01H 30,000 30,000 0
pJ 15,000
= 15,000
05 2I2t9IEr3 30,000 30,000 0
ONHAIBIZ 4l SAIY 2I2t9IE X2 30,000
9] 15,000
= 15,000
NAAtB S SHZMEI A (AZ B Y) 2,599,883 2,657,629 N57,746
p 1,999,910
= 599,973
308 REXISHHISOIF 2,599,883 2,657,629 57,746
pJ 1,999,910
= 599,973
01 AXSHHBAETZ 2,599,883 2,657,629 57,746
ONHAIBI T4 SAIY X2 2,599,883
pJ 1,999,910
= 599,973
HASE SOXBXAAL 227,186 254,574 ~27,388
| 227,186
308 REXISHHISOI® 227,186 254,574 ~27,388
| 227,186
11 8| 2 SOITHSHY & X 9| ErAL | 227,186 254,574 ~27,388
ONASE ST X2 227,186
0| 227,186
HE AR - 2| 560,600 432,000 128,600
= 280,300
= 280,300
307 212+01H 560,600 432,000 128,600
= 280,300
= 280,300
08 QRICHH B H 2 2% 560,600 0 560,600




FAN ASSUMS D
M F =2 P02 MHIA 7E
Rl ALBSEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEAS 0 FZNSHEH 2SX2 560,600
= 280,300
== 280,300
SEd A0ty eor XA 10,000 6,885 3,115
307 @20l & 10,000 6,885 3,115
02 QA HAIEE X 10,000 6.885 3,115
OUEy A0t SOHXI& 10,000
HUATRR(E) 58,943 58,943 0
308 XXM SOIE 58,943 58,943
01 AX N B EES 58,943 58,943
Odold 2 & dgdy MY XIS 58,943
alog2dE ggs Jad X 45,000 45,000 0
308 XXM SOIA 45,000 45,000
01 XN BSELS 45,000 45,000
Odgads ggds 2adl A& 45,000
2cl0tE F=XI2M At 46,430 59,6%6 A13,266
308 AtXIEHMSOIE 46,430 59,696 13,266
01 X SHHBAEXS 46,430 59,696 N13,266
O=cl0t= =X2H At X3 46,430
F4UE U 228 S A XA 41,769 41,769
308 AFAIEHMSOIH 41,769 41,769
01 AXH B2 LS 41,769 41,769
Og3d =2es gdxizg & 41,769
NS EHAE 25=Ate]l €= s WS 12,781 14,700 21,919
Jl 12,781
308 AFAIEHMSOIE 12,781 14,700 21,919
Jl 12,781
01 HAHHBSEEXS 12,781 14,700 21,919
OXg 22AME LAt €= SEHet u
= 12,781
Il 12,781
SAATIAALSI S A THEH(CBR) A Q124 132,881 0 132,881
= 102,216
= 30,665
308 AFAIEHMSOIE 132,881 0 132,881
= 102,216
= 30,665
01 AXEN B EES 132,881 0 132,881
OXIYAtsl S 212H| A& 132,881
= 102,216
= 30,665
DALY X2 1,050,000 0 1,050,000




=
=

= MHIA 2

ot
9|

od
i’
o
uJ

-

KIO

Hlw

1,050,000

1,050,000

200,000

200,000

200,000

200,000
200,000

200,000

1,279,465

MEE
Ofl &k2h

49,513,105

13,005
13,005
13,005

Ofl &F2H

fir

750,000
300,000
1,050,000

750,000

i

300,000
1,050,000
1,050,000

i

100,000
100,000

750,000
300,000
200,000
200,000

H

100,000
100,000

200,000

i

200,000

100,000
100,000

200,000

i

iy

100,000
100,000
200,000
100,000
100,000

200,000

H

200,000

i

100,000
100,000

48,233,640

Iy

16,809, 189
15,119,236

16,305,215

J|

13,005
13,005
13,005
13,005
16,500
16,500
16,500
16,500

564,655

- HyS

- SRA(E) - HIRAY

S - B

=01

F

402

=
=

K< 22| XIH 7

307 212t01&

2|

=

o

OXgdEH =24 XAl

4ZNSEXXNE 2

307 212+01&

OFAl
=N

30
OH

ulo

10}
4]
oF
ol
<0
n0
J

o

RO

01 AtR2telbl

30
0B

ulo

o}
o0

ol
0
A0
G

<
RO

16,500
16,500
16,500

A1,351,275

1,915,930
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S ALSEAl
XxXH: X
D

=
el A& - XI0H2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 508, 132
QAANE 2SN 21,004,087 19,340,520 1,713,567
= 14,737,861
= 6,316,226
308 XXM SOIA 21,004,087 19,340,520 1,713,567
= 14,737,861
=S 6,316,226
01 XN BSELES 21,064,087 19,340,520 1,713,567
OZRYAIE 2K 21,064,087
= 14,737,861
< 6,316,226
SURSANE JISEZ 2,250,000 0 2,250,000
= 1,500,000
= 750,000
403 AXIEHHSAH=201H 2,250,000 0 2,250,000
= 1,500,000
= 750,000
01 AXISHHA=2EE 2,250,000 0 2,250,000
OZUQIAE JIsEd XIH 2,250,000
= 1,500,000
s 750,000
SETHEAE 23X 709,785 683,658 26,127
308 AXIHS0IA 709,785 683,658 26,127
01 HAHHBSEEXS 709,785 683,658 26,127
OZMMEAE 2EXEH 709,785
FALSTAIE K& 303,588 288,720 14,868
308 AFAIEHMSOIE 303,588 288,720 14,868
01 AXEH B EES 303,588 288,720 14,8068
OZAABSTAIE SAHA MRHA 230,328
OZUAHLSTAIE SALAL a4l X 73,260
e XIZHl K& 87,553 87,553 0
= 67,354
< 20,199
308 AHAIEMSOIE 87,553 87,553 0
= 67,354
= 20,199
01 HAHHBSEXS 87,553 87,553 0
OFMEetAt XIzdl XI& 87,553
= 67,354
= 20,199
JIZFAAL=ERNEEH 1= K&~ 3,763,513 1,369,415 2,394,098
Jl 2,8%,010




FAN ASSUMS D
M A =2 2Ao= MHIA 2=
el & - X2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 868,503
308 AXIHSOIA 3,763,513 1,369,415 2,394,098
Il 2,8%,010
= 868,503
01 XN B EES 3,763,513 1,369,415 2,394,098
OJI=EuAL=SXME e T 3,763,513
7l 2,895,010
= 868,503
H(AMERIISHAH X 167,700 0 167,700
Jl 129,000
< 38,700
308 AXIHMSOIA 167,700 0 167,700
) 129,000
& 38,700
01 HASHHBSEXS 167,700 0 167,700
OF(2)ERINISMHAH X 167,700
Il 129,000
= 38,700
SSIUALSTANE N 1,512,289 1,599,000 86,711
Jl 1,163,300
s 348,989
308 AHXIEMSOIH 1,512,289 1,599,000 86,711
Jl 1,163,300
< 348,989
01 HXHHBAEES 1,512,289 1,599,000 A\86,711
OSEFAUALSIAY X (FaAY) 869,798
) 669,075
= 200,723
OSESHAALS ALY X2 (KU 642,491
Jl 494,225
= 148,266
SEENALSIAY 2E & 634,000 520,000 114,000
Jl 317,000
[ 317,000
307 el2to| & 634,000 520,000 114,000
Jl 317,000
= 317,000
05 git?(& = 634,000 0 634,000
OSESHAMALSEAY 2 XIS (Krakol e
(&) 410,000
7l 205,000
= 205,000




FAN ASSUMS D
M A =2 2Ao= MHIA 2=
s Za - Xoj2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEFUALSTIMNY 29 XA (ALY
) 224,000
Jl 112,000
[ 112,000
SSHH 248 K& 749,051 1,056,000 306,949
Il 468,157
= 280,894
307 212+01& 749,051 1,056,000 A306,949
Jl 468,157
S 280,8%4
02 LB HAHE L 749,051 1,056,000 /306,949
OodulissdH 29 NI& 749,051
Il 468,157
== 280,8%4
Aaoed & HAHSSIA 423,505 423,505 0
) 325,773
= 97,732
308 AtXIEMSOIE 423,505 423,505 0
Il 325,773
= 97,732
01 AN N B2 LS 423,506 423,505 0
OZAABSTAY X 198,510
Jl 162,700
=S 45,810
OAlT KtattZAr X2 224,995
) 173,073
< 51,922
oKt HE 298 X3 10,150,091 12,493,575 A\2,343,484
Jl 9,783,220
= 366,871
308 AFXIEHMSOIE 10,150,091 12,493,575 A2,343,484
Jl 9,783,220
=S 366,871
01 XN BELES 10,150,091 12,493,575 N2,343,484
ORIt e 2 X3 10,150,001
Jl 9,783,220
< 366,871
XIOHXIZ2eld] X2 (HEAY) 2,665,000 2,665,000 0
308 AtAIEHMSOIE 2,665,000 2,665,000
01 HASHHBSEXS 2,665,000 2,665,000
OXIHXIZ2eld] K& 2,665,000
XIOfEtAt2eldl K& 400,632 394,740 5,892
308 AHXIHMS0IA 400,632 394,740 5,892
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SN AYBTASY
M A =2 2Ao= MHIA 2=
chel Hal - xiofzel (SHol: )
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
01 XN B2 LS 400,632 394,740 5,892
OXIOHet At 2l X3 229,500
OMIIXIOF =Rl F=2HESA 2 171,132
SEXIME =29 627,620 619,719 7,901
Il 439,334
= 188,286
307 212+01™ 627,620 619,719 7,901
Jl 439,334
= 188,286
05 2IZtRAE = 627,620 619,719 7,901
OZAXIuE 2 X3 627,620
Il 439,334
== 188,286
AN 28 X2 35,820 44,190 A\8,370
307 @20l & 35,820 44,190 A\8,370
05 212t =S 35,820 0 35,820
OZSXIOHME! SAEL XM2IH&HI 14,400
OXIONQIRIZ 3t =2 )8 e 21,420
ZAXINME XISS=H K& 5,357 5,357 0
Il 3,750
s 1,607
307 elzto| & 5,357 5,357 0
Jl 3,750
[ 1,607
05 glzt?(& = 5,357 0 5,357
OZAXINHE XINZB2EAH ALY X 5,357
) 3,750
= 1,607
SN S3=A X 31,493 32,837 1,344
Jl 31,493
308 AXIHSO0IA 31,493 32,837 A1,344
) 31,493
01 XN B2 LS 31,493 32,837 A1,344
OXIis==AX& 31,493
Jl 31,493
ANZEAdEE SSAE 2 227,500 247,000 19,500
Jl 175,000
=S 52,500
308 XXM SO0l 227,500 247,000 219,500
Jl 175,000
== 52,500
01 XN BSELS 227,500 247,000 19,500
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